D25 PE-A

1EI3

-G0G

1EI5
L1111l

1EI4

CD25+FoxP3+

||||||iI|.||||||

-1 707

IIIIIIIIIlIlII-IIIIIII .'.I. T |||||I| T |||||||| T
0 10 1" 10
Foupd APC-A

105
L 111l

=+
=273
CD25+FoxP3+
[ar]
=
E el
@ 3 :
8 3 S e
- 1 1&"”““!!"””';:;3 LI IIII;II:lld 1
avE

105
L

" CD25+FoxPa+
< =3 '
L 3
o ]
o
0 e
O "3

=

3 i
@ i Hidn R
r?l- |IIIIIIII|||IIIIIIIII|n‘ I IIIIII| I IIIIIII| I
d
ATIE 0 10 10 10
Foup3 APC-A

1[I5
L1111l

=+
o 73
TR 1+
& ] = CD25+FoxP3+
Lo K] L
0=
(O

5 4
el '
P 5 SRR
v ||||||||I| ||||||||| T T ||||||| T |||||||| T
o 10” 10 107

-02g

Foxp3d APC-A

CD25 PE-A

-807

1[|5
L

1I:I4

1[|3
Ll

L ||i|||||||||

Ch23+FoxP3+

-2 TTE

-10

1]

T = } TTTT
10 10
Foxp3 APC-A




